5/20/2015 Print Test

PRINTABLE VERSION

Quiz 5
You scored 100 out of 100
Question 1
Your answer 1s CORRECT.
State the coordinates of the vertices, and then state the length of the transverse axis for the following:
Hor'izon'}o.\ - Y T8t
() (16) (-3,0y - (%0)

a)  Coordinates of vertices: (-3, -4), (3,4). Length of transverse axis: 8.

b) = Coordinates of vertices: (0, -8), (0, 8); Length of transverse axis: 8. a

=
i\ [
~+ ==

@ Coordinates of vertices: (-3, 0), (3, 0). Length of transverse axis: 6.
d)  Coordinates of vertices: (4, 3), (-4, 3). Length of transverse axis: 6.
e)  Coordinates of vertices: (0,-4), (0,4); Length of transverse axis: 8.

f)  None of the above.

Question 2 d; ) \On
\ M
Your answer 1s CORRECT. Coqmt conn& 6
A

State the coordinates of the endpoints of the conjugate axis, and then state the length of the conjugate

axis for the following: Jerhaal
(5) \
! 2
r+2)° _ (x+95° _ H

o —_— 1 iLa 4 -' t
(9) (25) (oD T
™
R b ® L t.l "'l)
- (-10,-5), (0, 1); Length of conjugate axis: 6. °

»
b)  Endpoints of conjugate axis: (5,-5), (5, 1); Length of conjugate axis: 6. (-s,"5 )

a)  Endpoints of conjugate axis

@ Endpoints of conjugate axis: (-10, -2), (0,-2); Length of conjugate axis: 10.

d)  Endpoints of conjugate axis: (-5, -5), (-5, 1); Length of conjugate axis: 6.
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e)  Endpoints of conjugate axis: (-10, -5), (0, 1); Length of conjugate axis: 10.

f)  None of the above.

Question 3
Your answer 1s CORRECT.
State the coordinates of the foci for the following: C "-_,a I‘.l.b 2
2 2 r 3
e Lo Chlesas
C* 4
((V41,0). (-/41,0)} : 1
a) c: (0/0) c-Nar

p)  {(=30), (3 0]}
O oy P (0,t\%)
g o {(V41,3), (41, -3)}

e)  {(0,-3),(0,3)}

f)  None of the above.

Question 4
Your answer 1s CORRECT.
State the equations of the asymptotes for the following: i3
2 2 5 5
>y 2 _ Y -
L 23) (9)
n ]

a) y=5/3x) y='5/3x
b) y=3x, y=-3x
¢) y=5x y=-5x

d)  x=0, &nbspy=0

@ y="5x y="y5x

f)  None of the above.
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Question 5 e=C .t \ll_‘]
Your answer 1s CORRECT. o 5
State the eccentricity for the following:
x=2" _ -5 _,
(23] (4)
g = 2 C }"" QI{'L .
a) 2
1 c:. 2s+%4
by o 10 i c=V24
1
@ "7
Ty
d) 2
"
e) 5

f)  None of the above.

Question 6
Your answer 1s CORRECT.

Write the following in standard form for a hyperbola.

L9 4 90x— 3054+ 16y —64y=0

(x—3)  (»r—2) _ o (x= o 2y T 2
2) (16) 9) =il t\(x IOX"f'sl) +“’(la ll-é.}. 2 ) — 305_45 +] 2

p-2' _ @=5 _, l '§)+|H 'z)Lzlf_‘i
b o (16) 9) T4t m "

p=2' =5’ o (kD) C'S)‘Z)L

(9] (16) RGN
@ 6 3

1]
—
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d) (%) (16)

y+2°  (x+5)° _
90 (16)

f)  None of the above.

Question 7

Your answer 1s CORRECT.

Given:

Which of the following is the equation of this hyperbola?

a) x2=—9y L -
Jd _ A
b) y2=—15x - 2 -
\> b
2 2
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‘p TR TR

f)  None of the above.

Question 8
Your answer 1s CORRECT.
Classify the following: Hf’ f‘ ,ua ) horizo h%aﬂ
x—8)°  (p+2)°

=1
(36) (4)
Hyperbola 1 r

b) = Parabola
¢)  Ellipse
d)  Circle

e)  None of the above.

Question 9
Your answer 1s CORRECT.
Classify the following:
2 3
20x 4+ 100x—100—4y —40y=0
a)  Circle
b)  Ellipse

¢)  Parabola

@ Hyperbola

e)  None of the above.

Question 10
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Number 9 ‘

2 vV 2
25x +100x—100—4y —40y=0

25 (x3+ 4X+ 1_2'_)- ‘I-L'11+ l05+ i:_) = [00+25(4) - ¢ LZS)

> S)* . 100
25 (xt2) "~ 4 ly+ [

——————
00 loo l0®

()™ L +S)"_' Hypecbala
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Your answer 1s CORRECT.

Describe the graph of this equation:

Vo +2° b

a)  Two intersecting lines 51.1 = °

b)  Point la =-Z

@ One line

d)  There is no graph

e)  None of the above.

Question 11
Your answer 1s CORRECT.

Describe the graph of this equation:

4% 165 =0
. . . 2
a) = The two intersecting lines: y=12x "I'x = oy >
. . . 1
The two intersecting lines: V=L 2% l le
¢)  The two intersecting lines: y=2x-4, y=-2x-4 g -2
4 4

d) A hyperbola.

-IX
e)  Anellipse. l& 2
f) = None of the above.

Question 12
Your answer 1s CORRECT.

Describe the graph of this equation: .
rm:l.l us

a)  Acircle.

b) = Anellipse.
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¢)  The point (-1, -5).

d) A parabola.

@ The point (1, 5).
f)  None of the above.

Question 13
Your answer 1s CORRECT.

Graph the following system of equations. How many points of intersection are there?

2 2
x +y =4

b) 6 / B
O \

d 2

e 4
f)  None of the above.

Question 14
Your answer 1s CORRECT.

Graph the following system of equations. How many points of intersection are there?

a) 1
b)) 2
¢c) O
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d 4
e) 3
f) ~ None of the above.

Question 15
Your answer 1s CORRECT.

Find the x-coordinate(s) of the point(s) of intersection for the following functions below:

—y @
Fx) =% —dx+2 Y=X"-4xtl

glx)=-3z+4 ‘j;'ii)
a) 1—2, 1}

X2-yx4l= -3xt4 =<

by & {23} Xt -X -2730

@ (x+ 1l - 2D~
9 (U X=-1 X=2

e)  {-2.4}

f) ~ None of the above.

Question 16
Your answer 1s CORRECT.

Find the x-coordinate(s) of the point(s) of intersection for the following equations:

1. ry=-=2 > 3:%

. x—y=-3 4—J aubstibute
e -(2)-
{51} AX\( X J M»»H bsth sides Lax
b O (12) x[ ] =[-3]x
¢) {2} 3
x* 2z = X
-4, -2 = -l s =
d) { } x;_thi.L:o B_ X \

(x t1)x+2)=0D
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f)  None of the above.

Question 17
Your answer 1s CORRECT.

Find the x-coordinate(s) of the point(s) of intersection for the following equations:

65 £y =8
l(ﬁxg—y2=4)
a) © {0.1} bx*+2y®. ¢
by O {-2.2) +|0x"-25“-3
¢ (-6, -4) lox*=lb
i
b4 2
d) : x=1I

(-1, 1}

f)  None of the above.

Question 18
Your answer 1s CORRECT.

Find the x-coordinate(s) of the point(s) of intersection for the following equations:

(3x2+?y2=3)'2. Fli minsdion Medh ed
[::2 + 2y2=5]1

Hint: Use elimination, and eliminate y. ~loxX*-|%4q*: -0

a) O {-3,6) ?’x"-l-l‘iz Y4

b) © {-6.6) X*=30
o O (12,12} x=t
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d o {36}
e) { _Sr 4}

f)  None of the above.

Question 19
Your answer 1s CORRECT.

Use the given features of the following hyperbola to write its equation in standard form.

Center (6, 9) 0=1%
Length of the transverse axis = 14‘/
Length of the conjugate axis=6 &= =3

Horizontal transverse axis
) N .
Howaontzl
) S b 3 O hyperbola

&) _ -
x—6' _ =9 _, b il
6 @ (9) 149 9

x—6" _ =9 _,
90 (49)

p—9" _ @—6" _,
g O (49)

x—6" _ =9 _,
o (19%)  (36)

f)  None of the above.

Question 20
Your answer 1s CORRECT.

Use the given features of the following hyperbola to write its equation in standard form.

Center (6, 9)
Length of the transverse axis = 14
Length of the conjugate axis =6
Vertical transverse axis
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a)

d)

¢)

x—6" , =9 _,
(49) 9)
-9 _ (x—6" _
(49) (®)
=6 _ @=9" _,
3 (43)
p—9" _ @—6" _,
s (49)
=9 _ x—6" _,
(196) (36)

f)  None of the above.
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